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Potato and Brinjal diffcr in this taxon
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Options :
Species

28303617921, ¢ &€

Genus

28393617922, & TS

Family

Hoeno250
28393617923, =

Order
28393617924, % Bo50550
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Correct Marks : 1 Wrong Marks : 0



Identify the correct statements
80N a5t Moo sk

[ Prof. V.S Ramdas is a famous taxonomist of India
1D D.05R. TR erEBEoS D FH) 0586 T NS

II. 235 rRNA is Ribozyme
23s rRNA 2.8 3BS 2

III.  Genetic nature of RNA was discovered by Watson and Crick
@30.00.0). 28055 0 )N O (85 en B0,

IV.  Cronquist proposed phylogenetic system of classification
1579859 S5¢ D570 S0EBE (DBIFAOTH
Options :
Il and IV
28393617925. ¢ 1l a8 IV

IT and 111
28393617926, % Il s08c3 111

[ and I11
28393617927, # 1 «08a%w 111

[ and IV
28393617928, & 1 0Ba IV
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Correct Marks : 1 Wrong Marks : 0



Match the arrangement of vascular tissucs with the type of steles below.

Stele with medulla surrounded by xylem and phloem

Medullated stele with non overlapping leaf gaps

[~V e I - -

Dissected Medullated Stele with overlapping leaf gaps

L Protostele
II. Siphonostele
[II. Solenostele

Non-medullated stele with xylem surrounded by phloem IV. Dictyostele

1Bo& (D38 Emarere @H050% el (D980 Dodio drad Koo 300

a. e DO SFAE E0027000 800D I
a3 5 B 1DNG YO0

b. @& &5 TodS HEmsdiaen EOA DS B¢ II.
X833 (0:0ea Hodhadn

C. ®& TR0 TOOR) DNFHETOS SrdS A5 1.

EE)S (205 O

d. ©&%HD0 FAE Emerero e358F A5 Sireh Iv.

8 POoSw
Options :
18393617929 % a-IIL, b-1V, c-11, d-I
28393617930, & a-lL b-II, ¢-1, d-IV

28393617931, & a-11, b-IV, c-I, d-111

28393617932, ¢ a-11, b-IV, ¢-II1, d-1
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Match the three columns and identify the correct combination

Group-I Group-I11 Group-III
1. Puccinia P. White spots in Brassica X. Basidiomycetes
2. Alternaria Q. Leaf rust in Wheat Y. Phycomycetes
3. Albugo R. Early Blight in potato Z.. Deuteromycetes

1508 Dadursrferedd 0P ), BTN Seranda Mdotodk:

el O-1 PSINVS e B | el O-111
1. 38)0alr P, 3308 2 B 200 X, B2AAT VR
2. ed)8arr Q. FnHeS S0 Brben Y. 53D

3. e’ R. 20y 009’ Srch 738 Z. SsBIRIED
Options :
28393617933, ® | -R-X, 2-Q-Z, 3-P-Y

28393617934, ¢ 1-Q—-X, 2-R-Z, 3-P-Y
28393617935, & 1-Q—Z, 2—-P-X, 3-R-Y

12393617936, 8 1 - Q-Y, 2—-R-X, 3-P-Z

Question Number : 5 Question Id : 2839364485 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0
Which of the following plant examples are wrongly paired with their type of
inflorescence.

808 FES"  wEyew, HN) DTS’ $DIBOM 2SHEIDFON?
A. Hamelia and Solanum — Dichasial cyme

PO AT, FerS0-O (7DD DI)ES ) D00
B. Bougainvillea and Jasmine — Cymule

SHQ DOAT, 270 2- s

C. Hibiscus and Datura — simple Raceme

ARSI AT Seadrn NUNEINS AT cA TS e

D. Cauliflower and Cassia — corymb
SONSB, SFRAT-00H

E. Achyranthes and Grass — Umbel
ePor0LR, HG-H o



Options :
28393617937. # A, B & D

28393617938, ¢ A, C & E
28393617939, # C, D & E

28393617940, & B, C & D

Question Number : 6 Question Id : 2839364486 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements regarding endosperm of angiosperms are true?
235985 DS’ @0K G050 H020B0NS (B8oB TS D d3HONSD

A. Endosperm is formed by triple fusion
®050859)50 (BHDOTITHO T°50° DG )C0EHOA.
B. Endosperm is nutritive in function
0500 A0 AOSAE
C. Itis a pre-fertilized structure
2O DOAEBE I8 5 VT 28250.
D. It may or may not be completely utilized by the developing embryo

@SB TOT 0o Teh A 5J°Q DATFHO G0N, B GOBBEN S0
Options :
28393617941, ¢ A, B& D

28393617942, % A, B & C

28393617943,  B,C & D

28393617944, 8 A, C & D
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An anther of a tvpical Darura flower produces 256 microspores in each of its
nmicrosporangium. What is the total number of microspores produced by that flower

and how many microspore mother cells are required to form these microspores?

28 G Gérd 0 GoE, DO UTEoSD wf g ardy O DaEcho 256
27 228D ere % IEHSTrow. €3 YN0 Inedo I I 2E0Diredn IS Karon
OO0 8 8 200020 DEIDTNEIT D), AP 10OE)2 S5 HEETED @IS0

Options :
28393617945, # 2560, 640

28393617946, % 640, 2560
28393617947, % 1280, 340

28393617948, v 3120, 1280

Question Number : 8 Question Id : 2839364488 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following events in the order of their occurrence in an angiospermic

flower
23596 D23 N0 2ed IF0ES 2B BMS DOMIEISE SBID (ESFR) DT°IEN
ROV

A. Megasporogenesis
QreOVR D23 23880
B. Syngamy
LOCWE doddrro
C. Embryosac development
DOCEH 0DIYO
D. Pollen pistil interaction
DA @odE T HBDIS 58
Options :
28393617949, # BDCA

28393617950, # ACBD



28393617951, ¢ ACDB

28393617952. # DACB

Question Number : 9 Question Id : 2839364489 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I'ind out the wrongly matched groups

1BoB HDdrrereS’ S 1B0Tr o) 2o Sl HAodod

A. Datura - bicollateral vascular bundles - Epipetalous stamens
BErE OO ;8 TP Joaren HEOLRF NS Edoren
B. Allium - polyembryony - Protogyny
@OOHo DITUD0SS |l DSBS Yo
C. Smilax - tendril climber - parallel venation
22676} HABE HIFAHOS IEEFE Iy DIFoBS ST T75HS0
D. Asparagus - Cladophyll - Xerophyte
DT - TPEOS - I8 Bk
Options :
28393617953, % ABC

28393617954, « BC
28393617955. % BCD

28393617956, % ABCD

Question Number : 10 Question Id : 2839364490 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0



Match the following plants with their Botanical names

1800 BELO& ¢ T RQOH TIFOS 2S5HEB0A

Column — I (232)& — 1) Column — II (a2 — II)
A. Meadow Saffron 1. Yucca gloriosa
DETIDS aosy, ToErar
B. Red Dragon 2. Smilax zeylanica
08 ™ e Bos
C. Sarasaparilla 3. Dracaena anguistifolia
DBOH (DBDOEF) IR @0MHeSFO AT
D. Spanish Dagger 4,  Colchicum autumnale
e @b & )50 eéra0) S
Options :

28393617957, & A-2, B-3, C-4, D-1
28393617958, & A-2, B-1, C-3,D-4
28393617959« A-4, B-3, C-2, D-1

18393617960 % A-4, B-2,C-1,D-3

Question Number : 11 Question Id : 2839364491 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): If the chromosome number is 2n during G, after S phase the
chromosome number is the same
Reason (R): After S phase there 1s no increase in DNA per cell

D50 (A): Gi & FIrdFsm Homg 2n @onsSHS S &% SSards Srae
IS Rrarsmw dopg o

75290 (R): S &% Somseh 158 S00¢T DNA 2SHEE &0
The correct option among the following is

& 1808 Do HB8TDIO
Options :



A and R are true. R is the correct explanation for A
28393617961 & A DO R OB, A 50 R 0B dadSed

A and R are true , but R is not the correct explanation for A
18393617962, % A «DOAW R AP, 5°0 A 50 R D Q20089 5°¢0

A is true, but R is false
28393617963, ¢ A VBIG, SR R OBIE 520

A is false but R is true
28393617964, % A DBIA 0, A R IBIE

Question Number : 12 Question Id : 2839364492 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following sentences are true

1808 52065 AR DS RSN

A. The chromosome number of meiocyte in housefly is 6.
&tf DA S IFSTFD HDoyg-6

B. The chromosome number of gamete in Rat is 21.
dend Do Do IFSrdFS Hops-21

C. The chromosome number of meiocyte of fruitfly is 8.
BI°ES D B DB S (F [ dows-8

D. The chromosome number of a leaf cell in maize is 20.
F0%) %) Iy HSE0osS (FIrF dowg-20
Options :

28393617965, # ABC
28393617966, ¢ BCD

28393617967. % CDA

28393617968, ¥ ABCD

Question Number : 13 Question Id : 2839364493 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the incorrect statements regarding cell membranes
£ ¢b 5o H DoDOKHOD NBED T HBodod

A. The hydrophilic head of lipids is present towards inner side of cell
membrane.
Ze 65509065 DG DY Ao (BerESE) FT e ' 0é) JIH G0EFOD
B. The lipids of cell membrane are made of phosphoglycerides
Eeaéh 1305R ONG L0 RFYANBE OF BB 00D
C. Cell membranes may also contain carbohydrates

Z0 505 eF)IFBE en S &odSdn)

D. The quasi fluid nature of lipids does not enable lateral movement of proteins
with in the bilayer
@103 PBS” &) ONG)) 15738 Yo 76§ ESOEZH50 33ond &
e EOH0
Options :
28393617969, ¢ AD

28393617970. % AB

28393617971, % CD

28393617972, # BC

Question Number : 14 Question Id : 2839364494 Question Type : MCQ Option Shuffling : Yes Display
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N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements are talse regarding the nature ot amino acids?
A. The acidity and neutrality of amino acids is based on number of amino and

carboxyl groups.

B. Both NH: and COOH groups of amino acids show 1onizable nature.

C. In solutions of different pH, the structure of amino acids does not change.

D. The amino acids have amino group and aldehyde group as substituents on the
same carbon.

DS @re H527S55088 HoDoB0D 1Bod ¢3S $BS00wS e D?

A @S @rer, e 00N e O jeredn el eghd suddin 5o 805
HNETATe HoW: Qo 3OS
B. NH) 00050 COOH a0 en B0 egnd’ eseire) eniiES0 Sodiie
0 52076700 ) TAT o) edd
C. DS pH e Ko [rdeFered eomded e3:0°0 D070 S8
D. @030 3537w 2,8 ST7)ES a0 OFS Da0ITEN0 SHBA e36) 375
AT OITOIRD |29e3 8 DEsrenlt O &0erown
Options :
28393617973 % AB

28393617974, ¢ CD
28393617975. % BC

28393617976, # AD
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Correct Marks : 1 Wrong Marks : 0



Which of the following statements are true regarding lipids?
26350 DODOOO) 1E0D 73S DT T EWESN o)) ?

a)

b)

c)

d)

Glycerol is a simple lipid trihydroxy propane.
AATS 2.8 ABTDS ODE | T E) DD

In triglycerides fatty acid is esterified with glycerol.

IDADBE S 5795 edren AHod & ¥O2 DH6 ErnodS’ aotron
'The melting point of oils 1s higher than that of fafs.

AATSeD, Fay 503 F0T) DL (D58 rara)), $6A &0eran

Saturated fatty acids do not have double bonds
HDOYR TS T § BTreeS O 0N OGS

Options :
28393617977, v abd

28393617978, # abc

28393617979, # acd

28393617980, % bed

Question Number : 16 Question Id : 2839364496 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
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Correct Marks : 1 Wrong Marks : 0
Which of the following statements are correct regarding ribosomes?
BEFA00B Ho20HoD (Bod TimiesS DBSD AD?

A. 708 ribosomes have two sub units 508 and 308.
708 65708 TS DS &S 508 LH0050 308 e (DSTET LN GOLFOW
B. BOS ribosomes are present only in Eukaryotes.
80S 85208 ToOS BEFD) Va3 Bod¥ #ho s Sr$sh dotron
(.. 708 ribosomes are present both in Eukaryotes and Prokaryotes.
708 55708 S06S AP S0(6% 5376 5 0ain A2 $018% Zyerd” sotran
D. Ribosomes are not bound by any membrane.
DETH) S50 Sareren
Options :

28393617981, # ABC



28393617982, % ABD

28393617983, % BCD

28393617984, v ABCD

Question Number : 17 Question Id : 2839364497 Question Type : MCQ Option Shuffling : Yes Display
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Which of the following statements are incorrect regarding internal organization of
plant tissues?
S03). zrere) @06 AT ETVE HODOO0T) B0 ae36Y DOTR) aTIWEN o)2)?
A. Phloem parenchyma is absent in dicotyledonous stem

B38¢Des rodbosS S ginereo aodde

B. Monocot roots do not undergo secondary growth
DE A2z D A se3ahH 5B SN

C. Hypodermus 1s sclerenchymatous n monocoltyledonous siem
D% (82 o0 edsFI520 Gtk Ee2re) GINBOMT GoeN0O

D. Lysigenous cavitics arc found in vascular bundles of dicotyledonous stem
& 559 Des 508505 T V5 HoererdS ercherdd SoiTTren Sotron

Options :
28393617985, & AB

28393617986, % AC
28393617987, % BC

28393617988, v AD

Question Number : 18 Question Id : 2839364498 Question Type : MCQ Option Shuffling : Yes Display
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N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0



Identify the monocot stem characters

I. Exarch xylem
II. Absence of medullary ray
ITII. Prescncc of bundle sheath
IV. Scattered vascular bundles

DEXBD22 oo o f e HBoHIN

L 255065 oo
II. AS55men S Hoched
1. Syoesy Stoh ayodus
IV. [er3dS ords Hoaren
Options :

28393617989. # [&TI

IT, ITT & IV
28393617990. ¢

, D&IV
28393617991. ¥

28393617992. # LI &IV

Question Number : 19 Question Id : 2839364499 Question Type : MCQ Option Shuffling : Yes Display
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N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
During CO: fixation of photosynthesis, Oxaloacetic acid is formed in which

cells?
889238500037 80%H 5o 2878 COz IS e85 @e38 &0 ) Sererd

D35S0 E?
Options :

Mesophyll cells of C; plants and bundle sheath cells of CAM plants
18393617993, % C3 SO JHE@ross Ssren, CAM 080 Hozs) S oS’ H8 )0

Bundle sheath cells of both Cy4 plants and C; plants
28393617994, % C4 0000 C3 InEye o) Sthth Lo’ D)



Mesophyll cells of both CAM plants and C4 plants
18393617995, v CAM 8050 Cs S0E)© HEP0sS TS )

Mesophyll cells of CAM plants and bundle sheath cells of C4 plants
18393617996, & CAM S0 H@0esd Seren, Cs S8 0235 Sthrh SeTrereS” DE)e0S

Question Number : 20 Question Id : 2839364500 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following scientists with the discoveries in photosynthesis

A. T.W. Engelmann i: Glucose production during photosynthesis
B.  Julius Von Sachs 1. Ha2 reduces CO: into carbohydrate

C. Carolius Von Neil  iii.  Green plants release O

D.  John Inzenhousz iv.  Photosynthesis in Cladophora

EMS T NTBOD, 8650 18a%H 8N 8o HOSFOI0A
A, B850 002S DS 0. 88m a5 DoV 1Boh S (rER dres e

B. 27000 a0E) i, Hiz, CO2 0 8 )3rBEBE m oursdoieso
C. (0OMVIITS il %0593 Bndren 02 & dode Taron
D. 28 Q050 575 iv. SEST S §dmzss noddr (§a%

Options :

28393617997, % A-ii, B-1, C-iv, D-iii
28393617998, & A-1v, B-ii, C-1, D-iii
28393617999, % A=, B-iv, C-ii, D-iii
28393618000, ¢ A-iv, B-i, C-ii, D-iii
Question Number : 21 Question Id : 2839364501 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The Phosphatase, that catalyses the reaction in which phosphate is removed from

Fructose-1-6-bisphosphate to form Fructose-6-Phosphate belong to which class of

enzymes
1DFR-1-6-03 YD HOD 3T YD SON0D |HFR-6-T YD IBHBT 385
Co[B)0e50 T ard) TN, o) OB SEKB8 TodHSS

Options :

Transferase
28393618001, % ETQIDVLE

Ligase
|
28393618002, % SN0

Hydrolase
28393618003, ¥ TSR

Oxido-reductase
28393618004, % ©8IE-OETR

Question Number : 22 Question Id : 2839364502 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The essential component of many co-enzymes are
DI JOBD TR 35438 @9 oo GoBd

Options :

Vitamins
28393618005, ¥ SO0

Metal 1ons

S5 e@0rS)

28393618006, %

Hormones
28393618007, # ESSPEN

Lipids

25

28393618008. #



Question Number : 23 Question Id : 2839364503 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0

In which of the following reactions of TCA cycle of aerobic respiration NAD is

reduced to NADH +H 7/

T OI0ETes 755 (80 S'Q TCA Her0HoeT O H¥se oo NAD, NADH+H™
5 o880 Todoehod?

A. Oxidation of isocitric acid
DEFESE 800 38850 oo
B. Oxidation of a-ketoglutaric acid
o- 865 (Her8E escho 8 880 oo
C. Oxidation of succinic acid
HEIDE esso esd 8 oo soe
D. Oxidation of malic acid
SrEE e3a00 @38 80 o soe

Options :
28393618009. % AB

28393618010, # AC
28393618011,  BCD

28393618012, ¢ ABD

Question Number : 24 Question Id : 2839364504 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the Plant Growth Regulators that inhibit apical dominance, delay senescence,

promote root hair formation and play an important role in seed development and

maturation respectively are

es[POEged AT, FP5ER) SOILIBEDL0, JIFOTTS DTN (OIS (9HF0)
ZONS0, SB05H DS @YD O HOHEs¢8 ToveroS (Hewp S $5rod
080 HMHA® Aahogdsed Hhioiod



Options :
Auxins, Abscisic acid, Ethylene and Cytokinins
28393618013, % 80D, 8D INVE B8R0, AGDS, RDEBAS

Cytokinins, Gibberlic Acid, Ethylene and Absisic acid
18393618014, ¢ R B0, 82)85 @0, 2RO, @5 eho

Cytokinins, Gibberlic Acid, Auxins, Absisic acid
18393618015, % RETES, 222385 @30, @8 Sew, @)V edo

Auxins, Ethylene, Cytokinins, Gibberelic acid
28393618016, % ©8I5e0, 2BOS, DEBIS, 2)88 eho

Question Number : 25 Question Id : 2839364505 Question Type : MCQ Option Shuffling : Yes Display
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N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which ol the [ollowing stalements (ruly justifies osmosis ol waler through a

selectively permeable membrane?

et 8 arSiianred (S8eTedE ¢ £230) o so° 200 3 ), (BTN G & 8od

ey DA HSHQron?

Options :
28393618017, ¢
Movement of solvent from a region of higher solvent concentration to a region of

lower solvent concentration
|ETe5e3 TBw¥), @O mdhéd fe |1NTHo od (Thed k) we) mds do |DT70E

(T8 SSevddo

28393618018, #
Movement of solvent from a region of lower free energy or chemical potential to

rcgion of higher frce cnergy or chemical potential.
@) D T 48 B SarohHd $530 oo Hod edl dio) ¥ S Srdhd
350 |arodbo Baydo T Hexddo

28393618019, &
Movcement of solvent from a region of higher solutc concentration to a region of

lower solute concentration
T Rebein A30E) @OE et Ko |INTI0 oM |TDhn BwE) ey mses e

DTS5 |maded Sedo



28393618020. *
Movement of solvent from a region of lower water potential to a region of higher
water potential

£031¢3 3530 Ke> |DHTH0 S90S 0HEDE ¥¥;0 Ko (HTFoIB (258 Sexdo

Question Number : 26 Question Id : 2839364506 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The net ATP formed by substrate level phosphorylation, oxidation of NADH + H'

and oxidation of FADH; during acrobic rcspiration of five glucosc molccules arc

¢ 95T eeWHeN, O D5 T80 e fUr 38155 TORGH0 S e
Herd arowdS, NADII + IT* e38 338, sodcsn FADIL 8580 oo~ dESorr

D& S ATP e
Options :
28393618021, & 10,70,10

28393618022, ¢ 20,140,20
18393618023, % 20,160,10

18393618024, & 10,140,10

Question Number : 27 Question Id : 2839364507 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
Which of the following bacteria get carbon from CO; but derive energy from

oxidation of inorganic substances during bacterial nutrition?

2r8B8aIreS 2650 1800 TS’ D 2§85 CO2 0B 52818 &, & ROOH

JDrgre> es8 8860 @0 45 Fohsron?
Options :

Bacillus and Xanthomonas
28393618025, % TR O FOFITT R



Rhodospirillum and Rhodopseudomonas
28393618026, % B & RIOLO HBAK FEArEIra

Chromatium and Chlorobium

18393618007, & (SO0 $H00N §FDHAD0

Nitrobacter and Beggiatoa
18393618028, ¢ DS TEE B0 BHTIrer

Question Number : 28 Question Id : 2839364508 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following viruses are cancer causing?

Bo& 3¢S 57535 $OR0T BB e DD ?
Options :
Herpes, AIDS and Ebola

Rabies and Neonatal Rubella
18393618030, & TR O ATIrSLS HBELT

Human Papilloma Virus and Chronic Hepatitis B

18393618031, ¢ TS FPRS'Sr FER HOAN HFTOE OV B.

Chicken pox and warts
28393618032, % S HOAKW (HSeTren

Question Number : 29 Question Id : 2839364509 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1508 a7e3Q 23¢b HBL0S
List-I1 (2&35—1) List-1T (¢35 — 11)
A. Sutton and Boveri i.  Chromosome map
DS SHBABY 3 IS ISP Do
B. Alfred Sturtevant ii.  Mutation
s8S|& HPT0S 56578585
C. Hugo-de-Vries 1i1.  Chromosomal theory of inheritance
05 A-1DD ESrFad © 905038 DT0S0
D. T.H.Morgan iv. Linkage
&3, 370 PP (i e
Options :

18393618033, ¢ A-iii, B-i, C-ii, D-iv
18393618034, & A-li, B-1, C-iii, D-iv
28393618035, # A-iil, B-ii, C-1, D-iv

28393618036, & A-ii, B-iv, C-i, D-iii

Question Number : 30 Question Id : 2839364510 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the wrong statements among the following.

A. Deletions and insertions of base pairs of DNA cause frame shift mutations
B. UV radiation cannot trigger frame shift mutation

C. The genes linked closely on the same chromosome have more chances of
recombination

D. Test cross ratio of a dihybrid Mendelian cross would be 1:1

1Bod 5365 $D385000S e HAoSod?

A. DNA &5 zore) 226500 Sofd0 )08 HBdn e D050 (Da-05)
&eb1B58mren A8 eron

B. UV 88¢cren Dad-ag <1858 Hln0d@8.

C. 2.3 |IF3rFinom SO8™ ey 2o s cod¥ Hdss Hotirasoren
DS yoTEon

D. 2008S & 55088 H8E Ho¥s daye 1:1



Options :
28393618037, 8 A, B& C

28393618038, ¢ B, C & D

28393618039, # A, C & D

28393618040, % A, B,C & D

Question Number : 31 Question Id : 2839364511 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following examples are besl studied examples (plants / animals)
respectively for the genetic studies on Incomplete Dominance, Co-Dominance,

Independent Assortment and 1.inkage

258 @dicharod 2 Ing)/zod Grrdne o0 @dord wirddd to, HIF
2orOe8ed t0, DLBO|ED FPETR VPFOH0 HNOAN AeTON) e MOOTT? (S50
ESNeIo)
Options :

Snapdragon, Lens culinaris, Pea, Drosophila

Drosophila, Snapdragon, Lens culinaris, pea
28393618042, % IEFDer, D (S, B 505000, 2o°ed

Snapdragon, pea, Lens culinaris, Drosophila
28393618043, % 2D (@S, 23, B FosdOR, |IBFDer

Lens culinaris, Snapdragon, pea, Drosophila
28303618044, % B0 S05OTTOR, D (@S, wo°ed, | EFDer

Question Number : 32 Question Id : 2839364512 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In a transcription unit the coding strand is
OBP (DS R DOV S
A. Found in DNA

DNAE’ 22008

B. Found in RNA
RNA ¢ 2322008

C. Codes for hnRNA
hnRNA %0 SOS0MmT D Teod

D. Does not code for anything
B8 HoBSomr HATADH

Which of the above statements are true
2 TS HBSD D
Options :

28393618045, & AC
28393618046, % AB
28393618047, ¥ AD

28393618048, # BD

Question Number : 33 Question Id : 2839364513 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DNA of ¢ X 174 bacteriophage has

d X 174 =8oa3mares DNA & &oB
Options :

48502 Nucleotides

a

28393618049, & 5502 SO
5386 Nuclcotides
18303618050, @ 386 STEETIBEY

5386 Nitrogen base pairs
28393618051, % 9386 e ;8 exchen



48502 Nilrogen base pairs

58393618050, % 38502 e F exchen

Question Number : 34 Question Id : 2839364514 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of nitrogen base pairs in haploid human DNA and Escherichia coli

DNA respectively are
53759 DNA €5°2 DEDeEes 5y 0850 ¥ )8205r §) DNA S S(¢b23 5268

22650 QOPS DT
Options :

4.6x 10°bpand 3.3 x 10” bp
28393618053, # 4-6 X 10° bp So6akw 3.3 x 10° bp

4.6 x 10" bpand 3.3 x 10° bp
28393618054, % 4.6 X 107 bp $o8a5» 3.3 x 10° bp

3.3 x 10” bp and 4.6 x 10° bp
18393618055 ¢ 3-3 X 10”7 bp 8050 4.6 x 10° bp

3.3 x 10° bp and 4.6 x 10” bp

Question Number : 35 Question Id : 2839364515 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
During biochemical characterization of transforming principle by Avery, MacLeod

and McCarty, the biochemicals from heat killed S cells were purified and digested
with proteases, RNAase and DNAase. Digestion of DNA with DNAase enzymes

shows

@30, SrSairS, D50 2020 DOIGS Ird0o TNEL ZIGTONAE Q20
289 HBTSIOS BB TD 0D $-DFS0 2rEBahS e I T HILBHED
1%¢3GDHD en, RNAase 805w DNAase & 2805 T08. DNA & DNAase DoBEa
& 200D TSI



Options :
No effect of transformation
18303618057, % OSES N (527750 LTrHB

Inhibition of transformation
28393618058, ¢ 03B DTOOIDAOH

Delays transformation
28393618059, & OIBS BOIF HESVHOH

Promotes transformation
18393618060, % OGS (RODOTIDAOE

Question Number : 36 Question Id : 2839364516 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The first artificial rDNA was constructed by using a native plasmid of which of the

following organisms?

&1 1808 73S Q B TWE) F'AE TB X GHTTAOD k) FseEs EY B

DD H033r2E DNA (r DNA) @£ $05r T7°d?
Options :

Salmonella typhimurium
28393618061, v V" OIPE BsryOaied

Escherichia coli

28393618062, % 23 808 8O

Agrobacterium tumifaciens
28393618063, # BErE6AH0 EPIVDACHS)

Propionibacterium sharmani
28393618064, % DT §A00 D8R

Question Number : 37 Question Id : 2839364517 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Agarose 1s a
TR @IS



Options :
Synthetic chemical from sea weed
18393618065, % Q0(CS Feny Hod 0T &3 SaADS0

Natural polymer from sea weed
18393618066, ¢ O0V(E Fe0Y DHO& ©OT D FONE

Synthetic chemical from Basidiomycetes fungi
18393618067, & BRVATBFRNEV 3D0|H0 O ©DOT EYleD SPOHS0

Natural polymer from Ascomycetes fungi
18393618068, % BFrDVER 300130 0B ©OT HrE FONE

Question Number : 38 Question Id : 2839364518 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a rDNA cloning experiment, which of the following helps to identify and eliminate

non-transformant normal Escherichia coli cells

IDNA £200 23750 12800 73S 20 D058 TOSR JF)6aar 5 Serecd

%808 SO0 S3H0S AHTrEHESH0H
Options :

Origin of Replication (Ori)
28393618069, # (DBTYS &DT)H0

Selectable marker
28393618070, ¥ SO0 BADSH 76,6

Cloning site
28393618071, % S QOB PO

Competent host
28393618072, % E3NT eBTFaw

Question Number : 39 Question Id : 2839364519 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Biofortification 1s required to remove hidden hunger. Vegetables and fruits are
enriched with different minerals and vitamins by using plant breeding methods. Which

of the following IARI varieties are enriched with Iron and Calcium

D203 8O SofoSEIE TFIFODENS ©INB0. DB HASIOD
GHBrA0D Srdmraden HBCM Hereds PN HOASN DLWPD HD0DS)0
DTS, OMS TS’ DWEFODTAS T°50° DN BN 5QAHO HDONS)0

st2ateed IARI &srew.
Options :

Spinach and Bathua
28393618073, ¥ I S0OCD 2¢804)

Carrot and pumpkin
28393618074, % SO 0O e

Carrot and French bean
28303618075, % SOES 080N (305 DS

Spinach and garden pea
18393618076, % RIS O E& TEY

Question Number : 40 Question Id : 2839364520 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The microbial biocontrol agent that can be introduced to control butterfly caterpillars is

0% Dende For® Mo AoHoBoSEE (Bod ¢3S 2 £5 daHo e
RIFSTR), (DaF 2T
Options :

Bacillus thuringiensis

e . =
18393618077, ¢ EFRRD GuOOBAHA D

Trichoderma viridi
28393618078, % |DS'Bo™ DOG

NPV (Nuclear Polyhedrosis Virus)
28393618079, % OT$ECHE O TPEVD S8R (NPY)



CPV (Cytoplasmic Polyhedrosis Virus)
28393618080, & R 28 IO TFEID FER (CPY)
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Question Number : 41 Question Id : 2839364521 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The extra food is stored in this form in eukaryotic, multicellular heterotrophs.

QesBo|BE aFosn HENLE e 8l eftoed) & ErHos® Jend THSotron.

Options :
Starch
28393618081, ¥ DO&

Glucose
28393618082, ¥ KpEler
Glycogen

As%eS
28393618083, ¥ <

Amino acids
oy
28303618084, % OB ©lpen

Question Number : 42 Question Id : 2839364522 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Statement I : Cryopreservalion is one of the methods of insilu conservalion.
Statement II : Red data books are published by the ICZN.

wodo | : o888HK8e0 =30 Hire %;Ef: HobSee Dorarod 2.58.

wodo I : B& Bt Hiseed ICZN (HHek0b.

The correct option among the following is
&0 808 DD IFTOS HOTDSS
Options :
Both statements I and II are true
28393618085, % ©oTe0 I, 181D

Both statements | and 11 are false
28393618086, v €T 1, 1985 52

Statement | is true. But statement I is false

Statement | is false. But statement Il is correct
18393613083 & @00 17838 =°th. =70 wodo Il JJH6

Question Number : 43 Question Id : 2839364523 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Radial symmetry is an advantage to sessile animals.
Reason (R) : They live in water and respond equally to stimuli that arrive from
all directions.

R8yb0 (A) : ey Arefio e £Ho) (8gro) w0 RSN 60t SHo)
arer enSreo0.
596630 (R) : & daen JBS® ST, &) HIo Hod &3y |20 Hodrow.
The correct option among the following is

511808 0D IFOS HBTSO
Options :



A and R are true, R is correct explanation for A

28393618089, v A RBotir Qzo, A 8 R3S 258w

A and R are true, but R is not correct explanation for A

12393618000, % A, RBo%r Jzo, 520 A 8 RIBS D8 5o

A 1s true. But R 1s false.

28393618091, # A Qeo., 53 R Dao 0.

A is false. But R is true.

28393618092, % A Qeo 5°¢h. 5°N R Jeso.

Question Number : 44 Question Id : 2839364524 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct statements
[. Intcrcalated discs arc peculiar to skclctal muscles
II. Innervous tissue only ependymal cells develop from mesoderm
II. Neutrophils are commonly called microscopic police men
IV. Most of the cranial bones are dermal bones

806 80 ofyadio 38 #B8 wowod KHboSod
. eonédth Homedhg 2 88en m% Eoore) Lﬁﬁéﬁé‘é

II. orégmeroos® a0kHG Somren Srash aueisrigdo whok @ﬁjé&% Jotharon
I1. Wﬁﬂaﬁm& -:f:.]"ééﬁ]‘éﬁ BEE gftneo eotrd,

1V. Zirend®d eof¥ zrfo ddnden iﬁﬁé{ﬁwf‘gm
Options :
28393618093. * I, 11

28393618094, ¢ 11, IV
28393618095, % 1, I

28393618096, & 1L, IV



Question Number : 45 Question Id : 2839364525 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Larva Phylum
A. Parrenchymula [. Ctenopohora
B. Cydippid II. Annelida
C. Miracidium I11. Porifera
D. Trochophore IV. Echinodermata

V. Platyhelminthes
80b &R a8dBSol.

&ogigo a’zgo
A. FEo8sner [ 8o
B. 2838 . @30
C. oodBcho I11. Fe2oe
D. 5°5°%6 V. 535°%60)er

V. Z83r008%
Options :
28393618097, ® A-ILB-1IV,C-V,D -1

128393618098, ® A-IV,B-1,C-V,D-1I
13393618099 & A-ILB-V,C-1,D-1II

28393618100 ¢ A-IILB-L,C-V,D-1I

Question Number : 46 Question Id : 2839364526 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The functions of enteronephric nephridia of Pheretima.
268 &5 ©o[BEX)570 Agven
Options :
Osmoregulation and excretion

28393618101, v ST HNCR (B8, DIGS



Excretion and digestion

28393618102, & DRES, BB

Digestion and respiration

28393618103, & BBEAD, THHED

Osmoregulation and digestion

28303618104, 8 BTERSE (EHE, AGBD

Question Number : 47 Question Id : 2839364527 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Jaw less fish like vertebrates are.

Ten B2 Ide Sod HEddsen
Options :
Tunicates

28393618105, % SR

28393618106. #

Cyclostomes

28303618107, ¢ DET0e

Apods

28393618108, # VPG Bew

Question Number : 48 Question Id : 2839364528 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Statement I : In frog. buccopharvngeal cavity acts as a force pump during
pulmonary respiration.

Statement II: Vocal sacs and amplexy pads are formed in temale frogs during

breeding scason.
wodo I: éé&@ﬁ ES IS ﬂjﬁf)@cﬁaﬁg @"m’&ﬁ?ﬁﬁ) Zirdo el podd Do HVIH08.
wodo IL: 5853 sre06® @i éﬁn']e:@ﬁ Ro3Y) Sden, :‘6‘5655@“@ 2B Esmon.

The correct option among the following is
&2 1808 20350 HBTDSE
Options :
Both statements I and II are true
28393618109, % @OTe I, 19838

Both statements I and II are false

28393618110, 8 ©OT L, LINPRD =2

Statement [ is true. But statement II is false
18393618111, ¢ ©0%0 1{BH6. =20 wodo 1l BIH =°th

Statement [ is false. But statement 11 i1s correct
13393618112, % €030 1XBJH s°th. 571 wodo Il JJJH

Question Number : 49 Question Id : 2839364529 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among vertebrates, renal portal system 1s absent in

D8It 88y VOIS g8 §°00Dd €

Options :
Myxine, Macropus, Felis

B = =
28393618113, ¥ DE)S, ESE, POS

Columba, Hemidactylus, Panthera

 Swozr, TGOS, Sroloe
28393618114, % &



Pteropus, Elephas, Labeo

18393618115, & BOS, JOS, e

Scoliodon, Rana, Antelopa

28393618116, % D2OTPED, 0%, SodestDe

Question Number : 50 Question Id : 2839364530 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following:
List-1 List - 2
A. Parasitic castration I. Larvae of Fasciola
B. Neoplasia II. Tuenia
C. Gigantism III. Plasmodium
D. Hypertrophy IV. Some viruses

V. Sacculina
Boh o788 s 8S508.

a3 - 1 a3tha - 2
A. SoeHyels 31;%5*5 I. =&darer ogis=en
B. O@madate I A9ats
C. ev@seaie III. aFd8daio
D. 3565 IV. 8%, 38%en
V. et

Options :
28393618117, 8 A-ILB-1IV,C-LD-V

28393618118, 8 A-IIILB-LC-1V,D-V
28393618119, ¢ A-V,B-1V,C-1, D -1II
28393618120. 8 A-V,B-1V,C-1,D-1I

Question Number : 51 Question Id : 2839364531 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the mismatched pair

RO eT0 G0l @i Hiotod
Options :
Wuchereria - Histozoic parasite

58393618121, 8 &E08ate - Eomere Soe#D

Plasmodium - Intercellular parasite

28393618192, ¥ FohSabo - Berodd SR

Hyperparasite - Nosema

28393618123, & SOVTHED - Wb

Coelozoic parasite - Ascaris

28303618124, # DT HOYED - @05

Question Number : 52 Question Id : 2839364532 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following are stages of Plasmodium in female Anopheles. Their correct

sequence is

[) Syngamy IT) Sporocyst I1T) Formation of Ookinete
V) Gametogony V) Oocyst

ol drded 88 Fdbdabo S 8ol VERaman. B TS $BD Eo

I) Souihog Soderio 1) ¢S dessHo I11) 55550% mgém D)0
IV) de8&88)8 V) $ocing Hess®o
Options :

28393618125, % IV-1-1I-11-V
28393618126, & 11 -V -1l -1V -1
28393618127. & IV -V -1 -1l - 11

28393618128. ¢ IV -1 -111 - V - 11



Question Number : 53 Question Id : 2839364533 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Euphoria and increased energy are due to
Qe 98, €5 1rbdied sedmo

Options :

Cocaine

28393618129. ¢ gﬂES

Heroin
28393618130, ¥ alPOPONQ

Morphine
28393618131, % QS

Smack

28303618132, & V2°

Question Number : 54 Question Id : 2839364534 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Limiting nutrient for both natural and agricultural ecosystems is

A2, 950D e358E S DB HFh¥0o
Options :
Nitrogen

28393618133, ¢ ™IBB

Carbon
28393618134, ® 50200

Phosphorus

28393618135, # &S00

Oxygen
28393618136, # WA

Question Number : 55 Question Id : 2839364535 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Statement | : The animals that can withstand wide fluctiations in salimity are called
eurythermal animals.
Statement II : Animals such as camels can be conformers upto a particular range
of temperature and regulators afterwards.
eodo [ : 53;& obdchHs ﬁ)ﬂd}g@;‘&) LI}M&E:S KI5 soHHod tﬁjjﬂéﬂfzi%@
2306806380 @0tIed.

wodo Il : .08 eorod mohPen a8 Sron S8%5 é'%@i@* edodrsrennm,

[A]
e Dobho|dsoum dotromw.
The correct option among the following is
& B0 D ITeS HBTDIE
Options :
Both statements I and II are true
28303618137, ® 0T [, 1883
Both statements I and 11 are false
28303618138, % EOTe L, INPID
Statement | is true. But statement 11 is false

18393618139, # ©0T0 1 JJHB. 577 wodo 1l JJHE s°eh

Statement I 1s false. But statement 11 1s correct
18393618140, v 2080 1 ¥BR6 seth. 529 wodo Il 3886

Question Number : 56 Question Id : 2839364536 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a lake ecosystem, Dytiscus comes under

25y darstes a’;{g&ﬁ%eﬁﬁ BEI0 & 555% Bothhod

Options :
Nekton
28393618141. ¢ 55‘55

Neuston

28393618142, = 53&‘35



Periphyton
28303618143, % POREPS

Plankton

i
28393618144, % BOSO
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The temperature of water in epilimnion of a thermally stratified lake in summer in

temperate regions 18

$5088°%g Erodod® THDE® (0KGem JobS $Ey) GwE) IHDAERSS™ I8 e P
Options :

28393618145, ¥ 21°C -25°C

28393618146, # 4°C - 5°C

28393618147, % 4°C - 21°C

28393618148, & 33°C - 45°C
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Identify A and B in the following equation

Casein CL“H’} Calcium paracaseinate _B Peptones
a

|Bol BaraDH ﬁt‘.ﬁgﬁﬁ A, B o oo,

RS A SOHHo Forhaes — B, =885
CH'H' o 5]

Options :
A. Renin B. Chymotrypsin
28393618149, # A. DI B. 3371328



A. Rennin B. Trypsin

28393618150, # - OO B. @)
A. Ptyalin B. Pepsin

28393618151, # A OO B. 289
A. Rennin B. Pepsin

28393618152, A OVS B. 20230
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Glisson's capsule is a part of

ATy K8 B T grKo
Options :
Pancreas

28303618153, % 52400

Liver
28393618154, ¢ SPBCDO

Stomach
28393618155, % Sopdabo
Duodenum
28393618156, # BOEHre0
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The volume of air remaining in the lungs even after forcible expiration is

poHod TN wdosto MHB8HeE® MHAD Ho& M HBDHBIFLO
Options :

Residual volume
28393618157, ¥ ©HVR F0SH0re0



Tidal volume
28303618158, % SEO T

Functional residual capacity
28393618159. # @m}eééé @é%ﬁ ﬁ“é}gﬁo
Total lung capacity

P8 DR Pogso
28393618160. # FE DD &
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The small blood vessels present in the walls of large blood vessels like aortic
arches are called

SFHDY erod DY SETrEre Fgos® a3 9%) S5
Options :
Coronary vessels
28303618161, & 2 g5 DD
Vasa vasorum
28393618162, ¢ TP TR0

Chyliferous ducts
-, |=m
18393618163, & SOPER TeFEen

Lymph ducts
28393618164, # STRED Togren
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Pore in the foetal heart of human beings is

PSS DoKSEE® 10865 oo
Options :
Foramen Manro

28393618165, % H(§* Solgo



Foramen QOvale

28393618166, ¢ P°O°DR &DS

Foramen Magnum

28393618167, ¥ 0F® DSBo

Fossa Ovalis

E.
18393618168, % &Far 23O
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Assertion (A): The glomerular filtrate is progressively diluted as it moves up in
the ascending limb of loop of Henle.

Reason (R) : Ascending limb of loop ot Henle 1s impermeable to water and
permeable for the reabsorption of Na* and CI-.

B0 (A) 1 0498 (50 &0 BEED wOer 28 wwpr B8 (HHHuTLP
Tof) e é;‘%:ei)oﬁ}.
s#iga0 (R) @ Ardd) 85530 et ol HAE AmtsrEges e, s Na~, CI
Efgja’iarﬁea"iwu WOt 0.
The correct option among the following is
& 808 DD TeS HBTDSO
Options :

A and R are true, R is correct explanation for A
28393618169, v A RBor Do, A 8 R3S D30

A and R are true, but R is not correct explanation for A

28393618170, % A RBor Qzo, =20 A 8 RXBS 256w s°eh

A 1s true. But R is false.
28393618171, # A Reso, 5°m) R Rao sed.

A is false. But R is true.
28393618172, # A Reso =eth. 5°R) R Jeso.
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Regulatory proteins of a myofibril are

Lol Hrg J80%NEE) Daboen (@O
Options :

Actin and myosin

- 1= P
28393618173, % DLV ARSI

Actin and troponin
28393618174, & V80, RIS
Myosin and tropomyosin
28393618175, % DATRS, (E*PELEERS

Troponin and tropomyosin
28303618176, ¢ (PR, (EFFHITRS
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Number of vertebrae that form the sacrum

BEod DT 3%re Sosy
Options :
28393618177. ¢ 5

28393618178, & 12
28393618179. ¥ 7

28393618180. % |1
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Limbic system 1s involved in the regulation of
DodE B0 BN VaHo(@:ed

Options :



Breathing movements
28393618181, & T30 50080

Sexual behaviour
28393618182, ¢ SONS [@DFD

Involuntary activities

28393618183, # oo B8 5o

Auditory functions
28393618184, 8 (B Dgoen
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Terminal ends of post gangalionic fibres of parasympathetic neural system at

effector organ produce
JIPOErS h BEY G TE Kob B8 Fo@sTre Dol eHEr worre HY
Sd:cﬁetfoé ooty

Options :
Adrenalin

28393618185, % PIETOD

Epinephrine
28393618186, ¥ SRPO

Sympathin
28393618187, ¥ RODBS

Acetyl choline

B,
28393618188, ¥ VRES 5O
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Catecholamines are secreted by

BFoDIOD (HHo38



Options :
Thymus gland
28393618189, & @@ (1of

Pineal gland
28393618190, & OVAHS (Ko

Adrenal gland

28393618101, v LT 08

Parathyroid gland
18393618192, % °O°@OPonE (o
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Statement I : Payer's patches of small intestine are secondary lvmphoid organs
in which mature lymphocytes become functional cells.
Statement II : Antigen - antibody complexes are removed by neutrophils and
lymphocytes from the blood.

wodo [ : ﬂ:ﬂcf:aﬁaeﬁﬁﬂ 098y eHBdEen E}é@{ﬁ) Dogront @Hcharen.
HS® 068 Tobd DodFty SIS Swour Srderan.
@030 II : Srs*heSen, Hosttn oSN (H8 258 - (58 BEE

Aofaped Fofron.

The correct option among the following is

%1208 DD IFTOS HOTSA

Options :
Both statements I and II are true

s
28393618193, % @00 1, 1985

Both statements | and Il are false
28393618194, % ©0Te» L I1IBID &0

Statement | is true. But statement 11 is false



Statement | is false. But statement Il is correct
18393618196, % ©0F0 [ 8BJH s°th. =2 wodo Il JJIH
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Match the following.

List -1 List — 11
A. Gastrin 1. Bicarbonates
B. Secretin I1. Disaccharidases
C. Cholecystokinin I11. Saliva
D. Enterocrinin [V. HCI

V. Gall bladder
1Bod TEHI eddddol.

S5 -1 N -2
A, rin@ﬁ 8 uﬁ_s@fﬁgﬁéﬁm
B. 2885 . BrEBES e
C. &*8205808 [11. ercerzeoc
er—
D. @Dﬁﬁegﬁlﬁ IV. HCI
V. E:.Eggra’ctim

Options :
28393618197 8 A-1V,B-L,C-1II,D-1I

28393618198, ¢ A-IV,B-1,C-V,D-1I
28393618199, 8 A-ILB-V,C-I,D-1V

23393618200 & A-IILB-LC-1IV,D-V
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Asserlion (A): In human beings tesles lie 1n scrotum.

Reason (R) : To mainiain high temperature more than normal body lemperature.
2880 (A) : SrI3HNS° Snamen SN’ ainé eoeron.
s*eso (R) : 60 G e g0& GEA S Q8@ SoSeels.

The correct option among the following is
&0 (808 DA ITOS HOTDSA
Options :
A and R are true, R is correct explanation for A

12393618201, % A RBodr deo. A 8 RGBS Dddes

A and R are true, but R is not correct explanation for A
28393618202, & A RTolr Qzo, 570 A 8§ RJBI D8 5°h

A 1s true. But R is false.
28393618203. ¥ A Na3o. 500 R Qao seéh.

A 1s false. But R 1s true.
28393618204, # A Qeso =eth. =2 R deso.

Question Number : 72 Question Id : 2839364552 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The secretion of these glands washes out the acidic urinary residues that remain
in urethra

& (oo [Frdo (HoBos® Surg@o Sy EONS efeed) é@%éﬁ@o&
Options :

Prostate gland
28393618205, % DR (10§

Cowper's glands
28393618206, ¥ S 20 (logoen

Bartholin glands

28303618207, % SO (fotoen



Skene glands

&
18393618208, % 3 ((fogben
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Progestasert is
PR RE o
Options :
Copper releasing intra uterine device

=
25303618200, % O DedEe TS Hogdaiross Fiso

Hormone releasing intra uterine device

==
28303615210, v OO DbiSe TD Hogdusrods Feso

Oral contraceptive pill

28393618211. ® ﬁé&j Eﬁefﬁé Té S

Contraceptive injection

28393618212, % 1 AEGE b Hood
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[f the blood group of father is A (homozygous) and that of mother is AB, these

blood groups are not expected in their children

$olf 88 $¥o A (Scioreo), $§ &8 $¥o AB ©ond 0 bped® & 68
Soren BoED.

Options :

28393618213, & A, AB

28393618214, # B, AB
28393618215, ¥ O, AB

28393618216, ¢ B, O
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The Drosophila with the Karyotype AAA+XX 1s

AAA+XX 50 @e85 So (SFper
Options :

Intersex
28393618217 ¢ D000l £

Female
_ @ £
28393618218, %
Metafemale
5
@b B a9
28303618210, % 2@ B
Metamale
28393618220, & @& HHA £
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Chromosome with the fewest genes in human beings is
S5 HIE’ 08 SENS esdogiyen EOADY B85 3oees®0
Options :

X - chromosome
28393618221, % X - (E° @R

Y - chromosome
18393618222, ¢ Y - (E°BrR850

Chromosome - 1
28393618223, % (E°RRFEw - 1

Chromosome - 21
18393618224, % (S RRESw - 21
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Study the following and pick up the correct statements
[. Cyvanognathus is a transitional form between reptiles and mammals
II. Prototherians are connecting links between birds and mammals
III. Wing of bird and wing of butterfly are homologous organs
IV. Biogenetic law states that ontogeny repeats phylogeny

So0b FH egyavdo I 3B voTeH woodod
[ Babsimes $6do, Sorod Sgrpss Srdo
1. $Hes, Sborad Botiy DS Debijen PP HBAD
1. &§ 3%, ders®s Deod BY) Jooe Jeaky eSadaren
IV. 2% €0 €28 388 & £ 38 Do JBS HSorfH¥o Tod o
&5 axlyy depodo SOADERROB

Options :
28393618225, % 11, 111

28393618226, ¢ L, IV
28393618227, # L 11

28393618228, # 1, IV
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The change in the frequency of a gene that occurs merely by chance and not by

selection in small population is called

0%y awrerd® $8wo Ho seHowe Girg)iSorr ey Pedgos® Kt
Options :
Founder's effect

o ot
28393618229, & B8 dHo Berso

Genetic load
18393618230, & %5 @00



Gene flow
28393618231, & B8y @ITFEFO
Sewall Wright effect
28393618232, ¢ DS B [Harso
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Vaccine for influenza 1s

B8SHDoz Ews) Se
Options :
Inactivated whole agent vaccine
18303618233, v DRI BoIPE (@8RG )T
Attenuated whole agent vaccine
28303618234, & D0 STEEE L8008 Bory (F8RS S

Toxoid
28393618235, % EFSNONE

Recombinant vector vaccines
28393618236, % H0: DO@DIeE ToseE Bseen

Question Number : 80 Question Id : 2839364560 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In an ECGQ, shortened P-R interval indicates

ECG &° P-R o080 S5 eoitso B HrDi00.
Options :

Bradycardia
25303618037, % EESEAT

Hypercalcemia

28393618238, # e SGsd) ol



Tachycardia
25303615230, v TSSO
Hypokalemia
28393618240, % R SODA®
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283936103
3

Online
Mandatory
40

40

40

Yes

0

1
283936103
Yes

null

The physical quantity pair with the same dimensions is

2.8 duédoen e e edordhe 26
Options :
angular momentum and work
18393618241, & 5 EI0% (965531530 SHOAN DA

work and torque
28393618242, ¥ DN DO €30y

potential energy and linear momentum

28393618243, % VDI 5800 THAD (935350

kinetic energy and angular momentum

18393618244, & (1992338 SHBA50 eI (S5 Hm
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[f the error in the measurement of the radius of a sphere i1s 1%, then the error in

the measurement of its volume 1s

2.8 A8 GB0E) asard0 FersseS” Eassm 1 % 000 7 SoeSH88Te00

TS Sasn
Options :

0
28393618245, % 170

—Y%
28393618246. & 3

1]
28393618247, ¢ 370

28393618248, # 9%
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A player kicks a football at a speed of 20 ms™' so that its range is maximum.

Another player at a distance of 24 m in the direction of kick starts running at that
instant to catch the ball before the ball hits the ground. To catch it, the minimum
speed with which the second player has to run 1s

(g=10ms?)

8 s 8 208 20 ms! JKoE T aria) KON LIEDT 05) S0
20008, 0B S8 OIS 24 m Sr&SNS &Sy HOTINE estarredd ©n
% £2065" 208 HEPTIETIE HORSHO 20000, WoNS 20 ZFadd TS
DEPEITRE BOthss esearrehd HOAS S0 EDH S&

(g =10 ms?)
Options :

™ |
28393618249, # 4 ms



=
28393618250, ¢ 42 ms

] =1
28393618251, # 82 ms

|
28393618252, % 8MS
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A body 1s projected with a velocity u at two different angles of projection such

that range is same in both the cases. Sum of the maximum vertical heights

attained by the body in the two cases is equal to

28 SN u JHANS Totkh J0SHD (D8 neE (D8 NoTRISYD, Bok
HOEIXNOS’ PR T5R) DATEN. & Bo HoKG NS & 50 TS
188 e Jnedo

Options :

28393618253 % u’g

2
¥l

28393618254, ¢ 28

2l

.2
28393618255, & 48

3

2u-

28393618256, # &
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A horizontal force F pushes a 4 kg block A which pushes a 2 kg block B as shown
in the figure. The blocks have an acceleration of 3 ms™ to the right. There is no
friction between the blocks and the surfaces on which they slide. The net force
exerted by the block B on the block A 1s

F eom § 637 faaroesdd 0.0 4 kg 1485007 ey A @901 Aan aeRrhad) . S
A2 2 kg 1852073 e SDTE O B Q H006 0 DS Sepcdas) o).
e BIOH 508 EOAS &8ss 3 ms™”. BIE AR, HazerSw

B adzeberd8 20dim Sodeoeren B.. 3 A D &3; B (HE3rAoh

PN L{eEATDINIY

4kg

e
~
=1

Options :
6 N to the right
28393618257. # 6 N 0633

12 N to the right
28393618258, # 12N md&é;ﬁ

6 N to the left
28393618259, ¢ O N 203

12 N to the left
28393618260, # 12 N D80S
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The work done when water of mass 20 kg is lifted from a well of depth 50 m

using a rope of linear density 0.2 kg m™, is
50 m S'éotier 2rD00& 20 kg (555073 e 3, 2.8 Dy 0.2 kg (8955073
e TS SDSD I 20AS H



Options :
28393618261, # 15250 ]

28393618262, # 12520

28393618263, ¢ 12250 ]

28393618264, & 15520

Question Number : 87 Question Id : 2839364567 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A bullet of mass 5 g is fired horizontally with a velocity of 600 ms™ into a block

of wood of mass 2 kg suspended from a string of length 2 m. If the bullet
penetrates through the block of wood and comes out with a velocity of 200 ms™',
the vertical height through which the block of wood rises 1s

(g=10ms?).

1355073 5 g o) 2.8 20BE o §Ba ddrossSorr 600 ms! JHsne 2 m &S
Ko @D |Serdd HoHAS 2 kg (555073 K> 2.8 TE) H1S V8 52 yar k. e
208 & OIS STHIFD 200 ms™! K0S 25rPSnonEE, &3 TE), O DEST
SLY

(g =10 ms?)
Options :

28393618265, % 2. CM
28393618266, ¢ 2 €M
28393618267, # 2 €m

28393618268, # 4 €m
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Three 1dentical spheres A, B and C each of mass M and radius R are placed along
a straight line such that, adjacent spheres touch each other. The position of the

center of mass of the system of 3 spheres from the center of the sphere A is

25,8583 M (8555073 0805 R argardo He Sured Aemen A, B odaso C,
108}, (0825 &) Fgren, 25008 HTEES &3S0 2.8 D&% B
GO0, P A TB0E) SO0 DO S0rehd Fiemed S5ed TBE)

18555503 Bo| & &80
Options :
2R

28393618269, % 3

28393618270. ¢ 2R

SR
28393618271. % 3

4R
28393618272. % 3
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The potential energy of a simple harmonic oscillator of mass 2 kg at its mean

position is 5 J. If its total energy is 9 J and its amplitude is 0.01 m, then its time

period in seconds is

2 kg (8555073 EORD DEEI T 58 FerEsn TRE), 7r9sE APdaan 5 23 ¥8
5] o) 030 489 J SH8050 E0035308a0e8 0.01 m @ond 7 e83:58 sPerdn

Do
Options :
|

28393618273. ¢ 100

T

28393618274, % 50



T
28393618275, % 20

T
28393618276. & 10
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The mass of a circular ring i1s 2ZM and its diameter 1s R. Moment of inertia of the

ring about an axis passing through its center and perpendicular to its plane 1s

2M (8555073, R 75000 ey 2.8 S9&°5°8 $0¥e00 GHE), S0 od &y
508200 88 020 e @8 a0 HSOM 23¢hed § |2Ta0E 0

Options :
MR?
28393618277. & 4
MR-
28393618278. ¢ 2
IMR*

28393618279, & 2

-~

IMR-
28393618280. # 4
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The time period of revolution of a satellite revolving around a planet is T. If the kinetic
oy

enerey of the salellile 13 proporiional T= , lhenn =

a8 (a0 e BON w8 ealido Glwg) 0(Eurs @t stwo T. ediiduo g 18t

" % eSoBiEESdrdos® sod, n =

Options :



28393618281, ¥ 2

28393618282, & 3

3
28393618283, ¢ 2

2
28393618284, ¥ 3
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The ratio of the lengihs of two wires of same malerial and same volume 1s 1:4. I the

force required to increase the length of the shorter wire by 2 mm is F, the force required

to increase the length of longer wire by 2 mm 13

a8 ﬂmﬂemioés Johad o8 Hdsedrno Ko Dot dKe SrEde 58 1:4. ﬁﬁ% K
el 2 mm 2105605 TE053% 2o F eond goedi &K g 2 mm

20iH6E SHIONS B0
Options :
28393618285. # F

28393618286. ¥ 16F

E
28393618287. ¢ 16

28393618288. ¥ 8F
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Two copper spheres of masses M and 8M are falling through a column of glycerine.
If the terminal velocity of the sphere of mass 8M is V, then the terminal velocity of

the sphere of mass M is

al ANbe Rozo T M S58din 8M  [Bssordhen e ot ooh FPgeen DY D. (Bagoed

8M He A¥o T BB 30 V eond (855028 M e Rf¥o g S0 3o
Options :
28393618289. & 2V

\%
28393618290. ¥ 4

28393618291, % 4V

vV
28393618292, & 2
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‘The work done 1n increasing the size of a soap film from 10 ecm x 10 em to

15 cm * 15 cm is 750 pJ. The surface tension of the soap film is

2.8 ;’:aea.;ﬂ i) 58 2moedy 10em x 10 cm Sod 15 cm x 15 em & 2ohat 3835 59

750 . :Sa}:na:] ord ﬁmé@r éué%é
Options :
28393618293, ¢ 30x10-3 Nm!

28393618294, # 3x10* Nm''

28393618295, # 20x10* Nm!

28393618296. # 20x10° Nm'!
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The heat energy required to convert 10 g of ice at 0 °C to water at 20 °C 1s

(Latent heat of fusion of ice = 80 cal g'l,
specific heat capacity of water = 1 cal g‘1 i ‘l,

mechanical equivalent of heat =4.2 J ca]‘i}
0°C &8 Ko 10 g soothid 20 °C $& Heo NS SPEN0E ST EEE

(ot (E5DesS HoRBGo = 80 cal g, DB DAY 5o =1 cal g1 °C,

65 dro(@8 dergoso = 4.2 ] cal')
Options :
28393618297. ¢ 4200 J

28393618298, # 2100 ]
28393618299. ¥ 8400 J

28393618300. # 1000 ]
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A gas is heated until both its volume and pressure are doubled. If its initial temperature

15 300 K then its final temperature is

2.8 5N 0 LY DIBBIF00 805N S0 BElod eddhs S8 IHTIAH
DAEIO. 8 AN TInE) O @ar|iéd 300 K @ondd e oraineg dang) )0

el s
Options :
28393618301, # 373 K

28393618302. # 600 K
28393618303, ¥ 900 K

28393618304, ¢ 1200 K
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When some amount of heat energy is given to a diatomic gas, the increase in its

internal energy is 100 J. If the same amount of heat energy is given to a monatomic

gas, the increase in its internal energy is
a8 8rpbdirend TPAmHIL ol ﬁ%é_&ﬁ oS ol @osdE 38 &0 2BiHse
100 J. &8 D% S85re08 Sranddd of HdErmo Ko 65880 andys, el

©0B5548 &8 BEIDB
Options :
28393618305. ¥ 56 J

28393618306. ¥ 140 ]
28393618307. ¥ 100 ]

28393618308, ¢ 84 J
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An 1deal gas (y = 1.5) expands adiabatically such that its volume increases by

1500 %. If the initial rms speed of the gas molecules is v, then the final rms speed

of the gas molecules is
a8 888 TdH (y = 1.5) FE°LE BEHS® o F5bErmo 1500 % DA diorr

:Pégsﬁoﬁé:;. TPA5n wende 80 rms SE v ©ond TP wmde &6 rms S5
Options :
28393618309. & Vv

28393618310, & 2V

"
28393618311. ¢ 2



1I
28393618312. # 3

Question Number : 99 Question Id : 2839364579 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A block of mass 15 kg 1s hung by a wire of length 1m in a lift moving up with an

acceleration of 2 ms~. If the speed of the transverse wave at the lower end of the string
1s 150 ms™', the mass of the wire 1s

(g =10 ms~?)

2 ms? $5e08° 28 Shenhd) a8 DFE° 15 kg (BEoed Ko 2.8 o3 | m KD Ko

o8 Brooe (Berd HFG. 8K 18od T 3 855 oo g H& 150 ms! wowd &K
(Sa550°8

(g =10 ms?)
Options :

28393618313, % 4 &
28393618314 ¢ S &
28393618315, % 12 8

28393618316, % 10 8
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When a tuning fork is vibrated together with the air column of a resonance tube,
4 beats are heard per second when the temperature of the air column is 324 K or

289 K. The frequency of vibration of the air column at tempcerature 324 K is
2.% rﬁe}&éoﬁ"%& 2. % e F&0 cﬂnéé g %0250&"5 2,808 §o%oﬁ3%ééﬁpdﬁ),
e Eém&fu t‘sé’{.fkﬁd 324 K &ur 289 K 08 aipth a8 WELE 4 )0Gw

Sedn@Ben. 324 K ég&ﬁé aﬁcﬂm e lgoéfo Ens ﬂ;‘i:@:ﬁéo
Options :
28393618317, # 136 Hz

28393618318. ¥ 140 Hz
28393618319, ¢ 144 Hz

28393618320. ¥ 148 Hz
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The image formed by the objective of a compound microscope is
2.& Hocing 207 185830 gy e Er¥dw 88D (DaDom
Options :

real, inverted and magnified
18393618321, ¢ 02, Sde|8ochen HOAW e85P50 TOHSE

real, erect and magnified
78393618322, & &, ARENY DO 8IFIA0 TOOIE

virtual, erect and magnified

78393618323, # NG, PRV 0BCIN e35FS0 TOLSE

virtual, erect and diminished
28393618324, & oNES, ALY DB D) O
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Correct Marks : 1 Wrong Marks : 0
In Young’s double slit experiment, the ratio of maximum to minimum intensities of

the fringes 1s 4:1. The amplitudes of coherent sources are in the ratio
0%0h 85D |HTrHoeS HEe> HOQ, EAN S|Sesed> DA 4:1 NS Hoddd

255" 0D HBWH® DD IS
Options :

28393618325, # 4:1
28393618326, # 2:1
28393618327, ¢ 3:1

28393618328, ® 16:1
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A rod with linear charge density L’ i1s bent in the shape of a circular ring. The electric
polential at the centre of the circular ring 1s

D88 BHADH SBIF0(BS ‘A7 o 2.5 500 SyersS oo Sodd. @ SoX Foddw
36 Dpdd FTrPADD
Options :

A

28393618329, # 4€p
2
28393618330, ¥ €0

—

28393618331, % €o

A

28393618332, ¢ 2€0
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Correct Marks : 1 Wrong Marks : 0
Two concentric circular loops of radius ‘r” each are kept perpendicular to each other having

‘1" current flowing through them. The resultant magnetic moment is
282,883 ‘1’ F5RrQ0 fe) Bock D S0l SHHEES i’ DS (Do ek, DS

2,500FTEES ©0200M™ GO, DO oHar) 0 |2ego
Options :

Y ‘2
28393618333, ¢ 1T~y 2

. 2
28393618334, % II°V2

28393618335, % 11"/5

2
28393618336, # TLI \E
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An electric charge (q) moves along a metal tube with a variable cross-section as shown in

the figure. It’s velocity at the wider position A i1s V.. Then the velocity of the charge when
it approaches the neck of tube (position B) is

28 DT HIo (q) Srdhehsd) oS Brossn o a8 ST FYo & 1Hairsdoch
2098, &8 0o Iy &S00 A 50 &3 esFdo K5 Vo, eoons & esdfo Bws)
Srisn &' FQ0 ST &) F°0 B 3¢

S
4._#-""!.
B ‘fu'b. q

 — A

T

greater than V,
28393618337, ¢ Vo 30T 80385

Options :

equal to V,
28393618338, # Vo 50 fedI"a)edd



less than Vo
28393618339, & Vo SO 502

less than or equal to V,
28393618340, % Vo 50 QadTadadd Sor éé&g,-é
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A nicromc wirc has a resistance 80 Q at a tempcraturc of 30 °C. If it is heated to

1030 °C then the resistance of wire 18

- g 5 -4
(Temperature coefficient of resistance of nicrome, & = 1.7x10 /°C)

2% BIES &% 30 °C SaF e 5 80 Qo AF T, £O° w0d. AR, 1030 °C % &
Dd, o ATGo
(BIED TV ITBE &8s Hofo, & — LT7x107 /°C)

Options :

28393618341, ¢ 93.6 Q

28393618342, % 06.4 Q
28393618343, % 187.2Q

28393618344, % 126.6 Q
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Two wires of same material and same length 20 em are wound in the form of two coils A
and B. The coil A has 4 turns and the coil B has 2 turns. If same current is sent into the

two coils, the ratio of magnctic induction at the centres of the two coils A and B is

2,3 8% 20 cm 5OB, 2.8 Herdsn & TohaxdsS Bodk SKoS Bodk Sz o ofen
A 58050 B 0575 ZaHaadSd. A o065 4 960, B 0o 2 5en dray on. Bodks B4
LS 2.8 DAES 1DaTT0 GOTY A SDOCIn B BoIire SO e300a7,.06 B [Ee Qa8

Options :



28393618345, v 4:1
28393618346, % 1:4
28393618347, % 2:1

28393618348, # 1:2
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A toroid has 100 turns and radius 10 cm. If it carries 1 A current then the magnetic field
inside the toroid is

(Permeability of free space = 4 x 10 "Hm™ )

2.8 Sorand 100 <He HAd 10 cm segardsn 08 0. ey 1A Do
|9638T ) GOT), PRI 20 EICHT) 06 T (65 8356
(5r5:06° 000063 =4 x 107 Hm ™)

Options :

28393618349, & 4%107° T

|

28393618350, ¢ 2%107 T
4

28393618351, # 1x107 T

|
28393618352, & 3<107 T
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A square loop of side 22 cm 1s changed to a circle in time 0.4 s with its plane normal to

a magnetic field 0.2 T. The magnitude of induced emf is
22 cm 2923550 & 2.8 S S R Se0R0 0.4 5 SOXNS JYBSEI0 T SrOIA.
PR 530850 @020 0.2 T @oHA)0653 (550 DA TONNN), D0 Dsd

T8 20 D870
Options :



28393618353, ® 3.3 mV
28393618354, 0.6 mV
28393618355, # 2.9 mV

28393618356, ® 13.2 mV
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. . . . C »
In the given network, 1f the charges on the capacifors in steady state are same, then (C—l) 18

2

Bod 2D D38 Sochos AeEd PAS” Tarded D esSisinen HIrSDos, (2_1)

=

bt b 3 Pt

1
1
10 20 30
ATATA" A AN AN
N
|
Cz
[ Wy
1T
1‘ R

Options :
28393618357, ¢ 23

28393618358, # 33
28393618359, # 1:1

28393618360, ® 1:3
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Consider a small cube of side 1 mm at the centre of a circular loop of diameter 20

cm carrying a currcnt of 2 A. The magnctic cnergy stored inside the cube is

20 cm 7200 00 2 A DENES 1957570 (10 2.8 H9FsS erm 20100 SO | mm 2heso
e 2.8 DY o) HOKS0B0B. & o dedrs God evxaharyods ¥

Options :

28393618361, # mx 10714 ]

28393618362, ¢ 2mx 107" ]
28393618363, # S x107% ]

28393618364, & 2mx10°'" ]
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A scrics LCR circuit with inductance 20 mH, capacitance 50 pF and resistance 25 Q

is connected to a variable frequency supply of 220 V. The frequency of the source at

which resonance occurs is

20 mH 3568 £0, 50 UF Sored) sHoai 25 Q d&doerd &)y LCR (355
502090 38 Sz o sy 220 V 535078 $3Dard. eocomrddo Hodod addd

I ONE N Ta A AN
Options :
28393618365, ¥ 1000 Hz

28393618366. ¥ 159 Hz

28393618367. % 59 Hz

28393618368. ¢ 50 Hz
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Arrange the following electromagnetic waves in the order of increasing frequency
&3 (806 DENSBOD, 065 SBOMPED ¢ e 0530 DS (Sshvo &
QT YeNTOHoS

A. Microwaves
D15° bSorren

B. Infrared waves
DT SSorren

C. Ultraviolet rays

w8 ered 88eren
D. X-rays

X-88¢e7ren)
Options :

28393618369, ¢ A, B, C, D
28393618370 % D, C, B, A
28393618371, % B, C, A, D

28393618372, % D, A, C, B
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When light radiation of frequency 6.97 x 101 Hz is incident on a metal surface, then
the electrons are ejected from the surface with a maximum speed of 6.6 X 10° msL.
The threshold frequency of the metal surface is

(take h = 6.6 x 103 Js; mass of electron =9 x 1031 kg)

6.97 x 10! Hz 75253550 fier 5708 DEGEa0 2.8 ST &H0e10 30 He¢6e550e08y 1%,
@ $00 D oA 6.6 X 10° ms1 583 $ES’ Jo|Faven poHer% Fendsderon. Ser
06530 MDE), @IB0Z) FPIYL0 10D

(h— 6.6 x 103 Js; deo| 5 15895078 — 9 x 1031 kg r dénsod)

Options :
28393618373, # 5 x 10" Hz



28393618374, ¢ 4 x 10'* Hz
28393618375, # 3 x 10" Hz

28393618376, % 1 x 10'*Hz
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A hydrogen atom is cxcited from ground statc to sccond cxcited statc when it

absarbs a photon. The energy of the photon is
2.8 IO Fn0thBn )1, o8 0 @Ead D8 s oeran cod Bt
& B3 o GBS0 Ichd30. &3 TS F& Dewsd

Options :
28393618377. & 3.4 eV

28393618378, ¥ 10.2 eV
28393618379. ¢ 12.09 eV

28393618380. ¥ 12.75 eV
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The half-life period of an artificial radioactive substance is 10 days. The time taken

for the activity of the substance to reduce to 1% of its initial activity (in days) is

(log-10=2.303)

2% %1850 DT 0% Ho-do @By @f A6 seo 10 Teren. & Ho-do
BarRerds ol G3ngy &8O |BairFed Dend Hod 1% L SierdE 5T seo
(Fered)

(loge10=2.303)
Options :
28393618381, % 990



28393618382, # 70.5
28393618383, ¢ 66.5

28393618384, & 46
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200 MeV of energy is released when a 0oU?** nucleus undergoes fission. A nuclear
reactor of power 192 MW uses Uranium-235 as fuel. Assume that all the encrgy
generated in the reactor arises from the fission of Uranium-235. The amount of

uranmm consumed per minute by the nuclear reactor 18 nearly

2.8 U2 301550 D0 HBE 6 Tdsd )¢ 200 MeV 38 DB e9)eo6. 192 MW
0850 K 2.8 o8 BairEE6eS ABACHO -235 A ROSXO T EHTrAN &,
Ba5rED & adye e@and 3§ o U DD e od IDIST @l esnsod.
201OE OOIFED 2.8 AQaDaraE DA0IFHOE ASN0ACHO DOITEIO NS ST
Options :

28393618385, % 2.35 Mg

28393618386, & 1.8 Mg
28393618387, v 141 mg

28393618388, # 5-40 8
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In a CE transistor amplifier, when a signal of 25 mV 1s added to the base-emitter
voltage, the collector current changes by 2 mA. If the load resistance is 5 k€, the
voltage gain of the amplifier is

2% CE 1£70395 5%%0 &', 8080 - 6780 S5 § 25 mV Ho3erd) DD 3¢
DE8E3 (Darirod 2 mA &) SenHchod. erER8 %0 5 kQ @ond S0 Tk,

S22 S5H0 Jends
Options :
28393618389, # 10

28393618390. ¥ 235

28393618391, & 100

28393618392, ¢ 400
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The function of which logic gate is represented by the following truth table
&) €883).0° 30 TwE) HBK 1805 AD 1S AwHEIE HrDN0O

INPLIT | OUTPUT
A
Al B Y
0 0 1 INPUT LOGIC GATE "
0 1 1 OELE iy w500 OUTPUT
1 0 1 B A¥So
1 1 0
Options :

28393618393, & OR
28393618394, # AND

28393618395. ¢ NAND

28393618396. # NOR
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A 'I'V transmitting antenna 1s at a height of 80 m. The radio horizon of the

transmitting antenna is
(take radius of Earth = 6400 km)

2% 39 Hard sy 80 m IHS &od . (HrE som) OHr §Seo

(ZSrarsardo 6400 km r S50808)
Options :
28393618397. ¢ 32 km

28393618398, ¥ 64 km
28393618399, ¥ 1024 km

28393618400. ¥ 3215 km
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The radius of second orbit of He™ is

He' G308), B0 855 arsardo
Options :
28393618401, # 2.116 A

28393618402, ¢ 1.058 A

28393618403, # 0.265 A

28393618404 # 0.132 A
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The ratio of wavelengths of electron waves in two orbits is 4:3. Then the ratio of

kinetic energies of electrons in those orbits is
B0 5505 IO|FS © 308 BT AA)S 4:3, @0 & IO[FQ © H8z 8o

DA & 5 s’
Options :
28393618405. ¢ 9 : 16

28393618406, % 16 : 9
28393618407. # 4 : 3

28393618408. % 3 : 4
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lonization enthalpies of five successive elements in a period are 899, 801, 1086,

1402 and 1314 kJ mol™! respectively. The corresponding elements are
2.8 DOOHE & DN KD HFOSE OFBOTEAS OO JeN ST 899, 801,

1086, 1402 508050 1314 kJ mol™! @ond e durerseen SSomr
Options :
28393618409 % L1, Be, B, C, N



28393618410 ¢ Be, B, C, N, O

28393618411, % B, C, N, O, F

28393618412, 8 C, N, O, F, Ne

Question Number : 124 Question Id : 2839364604 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many of the following molecules are polar?

BFs, NHz, CO3, SO, SO3, CCls, H20, SnCl

D TS’ (L0 @esHen I)?
Options :
28393618413, & 3

28393618414. ¢ 4
28393618415, & >

28393618416. ¥ 6

Question Number : 125 Question Id : 2839364605 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following, ions are correctly arranged with respect to their bond

orders?
1808 ¢3¢5° BAHO 20REITE HEOMT aiFaY HOTDS o

2908 YT 0W?
Options :

1~ —~ 2 i
23393618417, ® T2 > 0r=> 0y >Cy

2~ Oy N2 s
18393618418, & OF =~ O0r>N—=>(C

2 - P 2
12393618419 8 C2° 702 =0 > N»

-~ - 4 2
12393618420, ¢ C2~ = N2> O > O



Question Number : 126 Question Id : 2839364606 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
At T(K) a closed vessel contains equal weights of helium, methane and oxygen. If
the total pressure exerted by the mixture 1s 220 mm, then the partial pressure exerted

by methane is

T(K) 56 2.8 S &a8) Q‘L_érﬁs DTS 2rrren e arE)aho, DS SHBa esd Y2
SO0 AW, @) Seuil B w0 S0 220 mm ©owd DHFQ ool En

D8 ¥ $He4S0
Options :
28393618421, % 110 mm

28393618422, % 160 mm
28393618423, ¢ 40 mm

28393618424, % 73.3 mm

Question Number : 127 Question Id : 2839364607 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The corresponding coefficients of PH, and H,PO, in the following equation after

balancing are
1B0& DWESETR) S50 TS STeseh PH, HO050 H,PO, © T30y Heaseen
P,+ OH  + H,0 —» PH, + H,PO;
Options :
3 and 3 respectively
28393618425, % 3 e0OCIW 3 BT

| and 3 respectively
28393618426. ¢ 1 o088 3 SSodme

3 and 1 respectively
28393618427, # 3 oNOCW 1 SR



2 and 3 respectively
28393618428, & 2 <080 3 ST

Question Number : 128 Question Id : 2839364608 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not an extensive property?
1808 7635’ DO DS 3820 °C?
Options :
Pressure
28393618429, ¥ D0

Enthalpy
28393618430, % 05O

Heat capacity
28393618431, & CFRTO

Internal energy
28303618432, % @OBOEIE

Question Number : 129 Question Id : 2839364609 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
At T(K) the equilibrium constant for the gaseous reaction N, +3H, m—=2NH,1s

o : I 3
25. Then the equilibrium constant for the reaction NH, :; N, +EH1 at the

same temperature 1s

T(K) $@ N, +3H, ==2NH, 3 J°0in 58550 ddoerpe 9uroso 25, 0w

1 3
T a8l 5¢ NH, :ENE +5 H, 3T 3855 Sherde Doroso

Options :
28393618433, % 25

28393618434, & 5

28393618435, ¢ (.2



28393618436, ® 12.5

Question Number : 130 Question Id : 2839364610 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A): H2S has higher boiling point than H,O

Reason (R): Molecular mass of I1;S is more than IT,O

D30 (A): H20 $0B HaS & e0HF 2 )855:8 a0 40enod
85820 (R): HaS eveay (4525 77 Ha() 0Ty D00

The correct option among the following is
& (306 DAITOES DOTDSA
Options :
(A) and (R) are true. (R) is the correct explanation of (A)
12393618437, % (A) 0O (R) DOTDS. (R) @A (A) 50 DO DG

(A) and (R) are true, but (R) is not the correct explanation of (A)
12393618438, & (A) 0B (R) BT, 57 (R) T (A) 50 S8 DdHGe 570

(A) is true but (R) 1s false
28393618439, % (A) SOPST 57 (R) &)

(A) 1s false but (R) 1s true
28393618440, ¢ (A) $3) 5 (R) SOTSS

Question Number : 131 Question Id : 2839364611 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect statement from the following
1808 ¢3S’ DO s HBosod
Options :
order of hydration enthalpies Li" < Na < K" <Rb" < Cs~
1839361844] ¢ STIBAR AOGFO I 8o Li"<Na"<K"<Rb" <Cs"

KO: is a superoxide



Thermal stability of Li,CO, < Na,CO, < K,CO, <Rb,CO, <Cs,CO,
28303618443, % TP DS 800 Li,CO, < Na,CO, < K,CO, < Rb,CO, < Cs,CO,

LiHCO, 1s not obtained in the solid form
28303618444, % LIHCO; Q DS 8rdoS” &rocsBasm

Question Number : 132 Question Id : 2839364612 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The products formed when magnesium nitrate is decomposed upon heating

A 0000 BB & FA BHIYH D00 Tod ) de o e
Options :
28393618445, % MgO2, NO2, Oz

28393618446, % Mg02, NO, Oz
28393618447, v MgO, NO2, Oz

28393618448, ® MgO, NO, O;

Question Number : 133 Question Id : 2839364613 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The element of group 13 with lowest E° . (in V) is

B i (V ocS) R0 fie |17y 13 50 TodS Srerdo
Options :
28393618449. # Ga

28393618450, ¢ Al
28393618451, ¥ In

28393618452, # TI

Question Number : 134 Question Id : 2839364614 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Correct statement among the following is

1808 ¢3S DB HOTS TS
Options :

+4 oxidation state of Pb is more stable
28393618453, % Pb T308) +4 e38388e0 P B0y B 50 S0 b

Catenation ability of C <Si < Ge <Sn <Pb
28393618454, % SRR T0PS (800 C<Si<Ge<Sn<Pb

Diamond has a crystalline Lattice
18393618455, ¢ PIEFR8 0)e38 el QU0 oLnod

Graphite is a bad conductor of electricity
28393618456, % [T 2E 00D DCHFET 380 5°¢

Question Number : 135 Question Id : 2839364615 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The correct order of the relative stability of the following carbanions is

1BO6 VIR © P08 e § |80

A. Hc=c®

Options :
28393618457. 8 A>D>C>B

28393618458. 8 A>B>D=>C
28393618459. 8 B=>=D>C> A

28393618460. ¥ B> A >D>C



Question Number : 136 Question Id : 2839364616 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An alkyl halide *X’ upon rcaction with sodium mctal in dry cther gives
2, 5-dimethyl hexane. What is “X"?

2.4 a3, S FBE ‘X' A &AB H0E o FAHo FiFos SE:50
2, 5- BBS 27ES & BW0A. X @dds DA
Options :
Isopropyl bromide
28393618461, & DTS |SDE

Isobutyl bromide
28393618462, ¢ DT TSRS |G

Secondary butyl bromide
28393618463, % 50%0 arsBS (TS

Secondary Pentyl bromide
28393618464, & OFOB0 DOVS 1B'DE

Question Number : 137 Question Id : 2839364617 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is not correct about X and Y from the given
reactions?

1808 3850 0D, X, Y 0% 0208008 550" & HBSE 57¢%0?

Na/ Liquid NH, -

e ————

H;C - C=C-CH,;—

X

H,
PdIC

- Y
Options :
X is cis alkene and Y is trans alkene

18393618465, ¢ X OO DR 63,8 HO Y T8 (¢rS) .S



X and Y are geometrical 1somers
28393618466, % X HOAM Yeu B(S s sen

Dipole moment of X is less than Y
18393618467, % X 0308 O JE0S2radE0 Y 0T 506

Y i1s less stable than X
28393618468, & X 577 Y 8e8 50 503

Question Number : 138 Question Id : 2839364618 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The product obtained when sodium salt of p - methyl benzoic acid 1s heated with

sodalime 1s
p — WBS BoE0wS e300 TCnE) FAONO OSTV) FE B & IQ T ST

553910
Options :

28393618469. #

28393618470, &

28393618471. #

28393618472, &

Question Number : 139 Question Id : 2839364619 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Atoms of element B form ccp lattice and atoms of A occupy 1/3 ™ of tetrahedral

voids. The formula of the compound formed by the elements A and B 1s
B &3 Sred QOarensyen cep Q)e38 2rosR)) SO 0aron. A @ Sres

DBATEN YN 1/3 & 2710 BIEF (S SO(FTPO &3 Saa" 0. o A Hdain B
OO BIAD JaIFS0 e

Options :

28393618473. ¢ Az B3

28393618474, % A3z B2
28393618475, % A4 B3

28393618476. % A3 By

Question Number : 140 Question Id : 2839364620 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following 0.01 molal aqueous solution will have the highest freezing

point?
1808 ¢33 0.01 SrerS mrehed 65 2 DTS BOTSETRE B8R MDZSS arso

= ol elnY
Options :

Sodium Sulphate
28393618477, % FAODO DBHO

Aluminium Sulphate
28393618478, & @ETNICN0 DS HES

Potassium Chloride
28393618479, % TETACAHO STE

Sucrose

28393618480, ¢ &S

Question Number : 141 Question Id : 2839364621 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The molar conductances of sodium acetate, hydrochloric acid and sodium chloride
are 91.0, 425.9 and 126.4 S cm® mol™' respectively at 25 °C at infinite dilution. What
1s the molar conductance of acetic acid at infinite dilution?

25 °C 58 SFA0H0 @5, IPETH57D0 HOASH FAOHo §BH © Irerd
TETEhen 9506 DS S SEDM™ 91.0, 425.9 HOOW126.4 S cm? mol”! esowS

295065 DOB0 5 DNEE eeD0 Jrerd TeTrEed DOeh?
Options :
28393618481, ¢ 390.5 S cm’ mol!

28393618482, & 461.3 S em? mol”!
28393618483, & 643.3 S cm? mol!

28393618484, # 43.5 S cm?mol™

Question Number : 142 Question Id : 2839364622 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The rate constant of a first order reaction is 6.4x10° S 'at47°Cand 1.6x107° 8"

at 27 °C. The activation energy for the reaction is around

(log 4 =0.6021, R = 8.314JK™' mol™)

2,8 (DD 1Z5r0d 585 Bew poro¥o e 47 °C &S5& 6.4x107° S vbasw 27 °C
SC1.6x107° S, 0N &8 983 B8 $8 SSrSmr

(log 4 =0.6021, R = 8.314JK ™' mol ")
Options :
78393618485, % 110.0 kJ mol™!

28393618486, # 27.0 kJ mol”!
28393618487. ¢ 55.0 kJ mol™!

28393618488, % 220.0 kJ mol!

Question Number : 143 Question Id : 2839364623 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following graph represents the correct relation between adsorption of a
gas on unit mass of solid adsorbent and pressure at a particular temperature?

1808 ¢35 DTPeh &F(Hed S5O, D5°0E (5550°2 KO 30 VRS’ @HTFHRZ0 D
©AFNR0 TOOS FAN DOITETVE DBTRE DS DB HDoVOTA) O™

Barae)o 06 7
Options :
T ol
i "
et | /
m r"'l
ﬂ —
28393618489, # logp —=
% z/
m
0
28393618490. ¢ ¥y —p
loa-x
m
‘\H"“‘-h-a_..
e I
28393618491, % ogp —=
=
m
T
La]
28393618492, & P —>

Question Number : 144 Question Id : 2839364624 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Malch the [ollowing

1806 T°e3m) 2680805068
Lislt — I (&3es —1) List —II (zs=2ess — II)
(Reaction /<58¢) (Process/ |:38d®)
ZnCO; —>>Zn0 | CO, L. Roasting
H. 2708+ 30), = 2/n0) + 258(), F3d0

AL,O, +2NaOH +3H,0 —2Na[Al(OH),] 1. Calcination

08800
ITII. Froth Floatation
2aded |2 Bah
IV. Leaching
DE S0
The correct answer 1s
HBS HITTHI0
Options :
28393618493, & A—1 B-1I , £ HI
28393618494, 8 A—1 B-1II , C-IV
28393618495, & A—1I B-1 , =10
28393618496, ¢ A — 11 | B—¥ C-1V

Question Number : 145 Question Id : 2839364625 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify X and Y in the following reaction

Bod B85 X, Y ©60 HB0Te0

P,0

HNO, &L:» X+Y

Options :
28393618497, ® H:PO;, N, O

28393618498, ¢ HPO;, N, O,



28393618499, % HPO;, N,O

28393618500, & H;PO;, NO

Question Number : 146 Question Id : 2839364626 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements from the following
1808 a¢3¢S° HOTS a5V 00

A. Peroxo bond is present in H2SOs and H25204
H2S0s 08050 H28:05 e3¢ 2078 ) 200650 &0oenod

B. S-0O-8 bonds are present in H2S;04
H»S,07 & S-0-S 2057en &0eron

£ Oxidizing power of H2503 18 more than H2S04
H2SO; 3BwE), es8 5886 arandso HaS04 50T 5036

D. In H28:0s, the two sulphur atoms have different oxidation states
H2S:05 €5 Bocdh 5038 HESrenyerdo D) e 18 Dehren Gotron

Options :

28393618501, % A, B & Conly

28393618502, # B, C & D only

28393618503, v A & B only

28393618504, % C & D only

Question Number : 147 Question Id : 2839364627 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following property is not correctly matched?

1808 7365 &) BG20 DO BSHSIVSSE0?
Options :
HI = HBr = HCI = HF : Acidic character

18393618505, & HI > HBr> HCl > HF : ess» e 020



HF = HCI = HBr = HI : Bond dissociation enthalpy
28393618506, % HF > HCI> HBr > HI : 25065 D306 06O

HCIO = HBrO = HIO : Acidic character
18393618507, ® HCIO > HBrO > HIO : essd ©& &0

HF > HC1 > HBr > HI : Reducing strength
13393618508, ¢ HF > HC1 > HBr > HI : § oh&&e 200

Question Number : 148 Question Id : 2839364628 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following molecules contain same number of lone pair of electrons on
‘Xe’ atom.

1808 ¢3S" DTDH @enHOS ‘Ke' B DS oS 208 B0 IO\ TS e
EOE0N

A. XeF,
B. XeF,
C. XeOF,
D. XeO,

Options :
28393618500. # A, B & C

28393618510. ¢ B, C & D

28393618511, # A, B& D

28393618512, # A, C&D

Question Number : 149 Question Id : 2839364629 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In aqueous solution identify the pair of 1ons which are colourless

20073605 & 208y AT B0 §8) G0’ HBotHEM
Options :



13_ r_ 2t
28393618513, ¢ 5S¢, Zn

T L 0
28393618514, % SC°, Zn

24 74
28393618515. # V-, Cu

34 3+
28393618516, % 11", Mn

Question Number : 150 Question Id : 2839364630 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many of the following complexcs arc diamagnctic?

Bo& 3" oSy eahary o oo, $65 Hodaren ) ?

[CU(NH )6]3_. [cor,]". [Ni{CN}J:_, [Ni(co),]. [nicL, P

Options :
28393618517, & 5

28393618518. ¥ 4
28393618519, ¢ 3

28393618520, ¥ 2

Question Number : 151 Question Id : 2839364631 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A polymer sample contains 25 molecules with molecular mass 20,000 and 25

molecules with molecular mass 40,000. The number of average molecular mass of

polvmer is

2.8 FON0 T:02 & 20,000 @0 (5555077 S 25 eoseien «HOa 40,000

@220 15655079 58S ey 25 508, @ DB e Soms e (5ST
Options :
28393618521, v 30,000

28393618522, # 50,000



28393618523, % 40,000

28393618524, # 60,000

Question Number : 152 Question Id : 2839364632 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, sulphur containing amino acids are
1808 B DB GS) DS e3dTen DN?

A. Lysine B. Cysteine  C. Proline D. Methionine
BVS NS FOS DOTBrIZS

Options :

28393618525, % A & B only

28393618526, % B & C only
28393618527, v B & D only

28393618528, % A & C only

Question Number : 153 Question Id : 2839364633 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

List — I (Example) List-IT (Type of chemical
substance)
A. Cimetidine I Artificial sweetener
B. Alitame II. Analgesic
C. Morphine III. Antacid
D. Iodoform IV.  Antifertility drug
V Anliseplic
1800 el 2650%0em.
erder — I (Gardes) erdee — I (Sr0%S D@ $%0)
A. DEE® | £ O 563
B. @dHS I RS
. vbyS I epddy
TR0 IV. ﬁu;,:‘i‘]ﬂf@f LA
e V.  aroe$Rys

The correct answer 1s
DY TP T eI a0

Options :
18393618529, 8 A—LB-II,C-1IV,D-V

28393618530 8 A-IIL B-L, C-1V,D -1l
28393618531, 8 A—V,B-I,C-1,D-1II

28393618532 ¢ A=IILB-LC-1,D-V

Question Number : 154 Question Id : 2839364634 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the correct order of boiling points of the following alkyl halides?
1808 e8B)S IFBG ara1) PS5 Fare) DDEN0 O ?

L CH,-CH,-CH,-CH, -Cl
. CH,-CH,-CH,-CH,-Br

[1. CH,- CH,-CH-CH,
Br

IV. (H:C);:CBr
Options :
28393618533, ¢ I = Il = IV > |

28393618534, & 1 = 11 = IV = 1]
28393618535, % I = IV =>1I1> 1

28393618536. & 1 = IV =11 = 11

Question Number : 155 Question Id : 2839364635 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : A mixture of o- and p- nitrophenols can be separated by steam distillation
Reason (R) : p-Nitrophenol is steam volatile due to intramolecular hydrogen bonding
A0 (A) 1 0-, p- S DD e WFITAY 270 DS 15180h oo B BAHSD)
&0 (R): p-3I&S° oS & o9 50688 (intramolecular) 37828 wo0d0 sdoom
zoer) Jed fod
The correct option among the following is
&: B0 ) 5oy HBTDIS
Options :
(A) and (R) are true. (R) is the correct explanation for (A)
19303618537 % (A) 005 (R) SO (R) @936 (A) & HBTS D66

(A) and (R) are true, but (R) is not the correct explanation for (A)
18393618538, & (A) DB (R) DB, 5 (R) @IA (A) 50 ST D586 ¢

(A) is true, but (R) is false
28393618539, ¢ (A) QOO 5% (R) 52y



(A) is false but (R) is true
28393618540, % (A) $3) 5% (R) HODSS

Question Number : 156 Question Id : 2839364636 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The products A, B and C in the following reactions are respectively

1808 5&5eS’ A, B 00050 C e9f dved jaye0 SSodmr

Cu
I ; A
CH: L;H CH;WK)

OH

OH

Conc. HNOa
n=:;a HNO:

> B

OH

CHCL  NaOH
aOH (aq) S ¢
CHCl: + NaOH (220©)

Options :

OH OH
Cll; - C - CII; . N
I
0

28393618541, ¥ NO2

7
e

CHO

28393618542, #
ox OH
O:N NO:

CHs - CH = CH» : e

28393618543, %

OH OH

CH; - C - CHs
Il
O

COOH



28393618544, %

OH OH

CH: - CH = CH; i

. NO: .
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Compounds that participate in self aldol condensation are
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Options :
28393618545, % A, B, C & E only

28393618546, % A, C, D & E only
28393618547, ® B, D & E only

28393618548, v B & D only
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The correct order of pK, values for the following compounds is

808 S iFore pKa dende SOT (B0

COOH COOH COOH
F,C COOH
NG, CH,
A B C D

Options :
28393618549. 8 A>D>C>B

28393618550. 8 D>A>C>B
28393618551. ¥ D>B>A>C

28393618552. 8 B> A>D=>C

Question Number : 159 Question Id : 2839364639 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0

Identify the products X and Y in the following reactions
1808 985S’ X H8aim Y o 8090

: Bry+NaOH _ CHCL+KOH _
Benzamide >N e
DomDd _ ButNOH EHC13:KDH .y

805D
Options :

28393618553, & C,H,CH.,NH,, CCH,CH,CN
H,NH,, C,H,CN

28393618555, % C

28393618556, ¢ CoHsNH,,  C,HNC
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The major products P, Q and R respectively in the following reaction sequence are
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